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After taking a careful look at everything shown in the visit, please answer the following
questions:

a. Did you watch the videos using a 3D virtual headset? Do you own one? If not, would be
interested in owning one? Whether you are interested in owing one or not, explain why.
b. What systems did you identify in the virtual plan visits that are related to a fluid
mechanics system?

c. What fluid mechanics concepts you have learned in this course you would use to study
the performance or design such systems you observed?

Brooklyn’s M Factory
a. No. No. Yes, I think it would the tour more interesting and you would probably
notice more things going on in the Brooklyn’s M Factory.
b. The plant has what looks like a water system for fire, [ see gate valves, ball valves,
tees, elbows.
c. Thisis a network pipeline system delivering water in the case of a fire. So this
systems is dealing with pipe minor losses.

Hershey’s Factory

a. No. No. Yes, I think it would the tour more interesting and you would probably
notice more things going on in the Hershey’s Factory. This tour didn’t need a 3D
headset.

b. The plant has big tanks that hold large volumes of milk and delivers it through large
pipes in a series pipeline system. The system has large pipes with flanges to connect
to. There are also tanks with motors mixing the ingredients. All pipes were labeled.
There are different viscosities of fluids that are being mixed. There are elbows, tees,
gate valves

c. This could be a mix of network and series pipeline systems delivering milk to mix
other ingredients with. So this systems is dealing with pipe minor losses, pump head
loss.

Water Treatment Plant

a. No. No. Yes, I think it would the tour more interesting and you would probably
notice more things going on in the Water Treatment Plant.

b. The plant has large water tanks (some that are 15 feet deep, and some that are 20
feet deep). The system has large pipes with flanges to connect to. There are also
submersible pumps, transfer pumps, gate valves, flow meters to calculate the total
volume of water, there are elbows, tees, gate valves, pipes are labeled, piping
structures (including trellis style bridge supports over a creek), and reservoirs.

c. This is a mix of network and series pipeline systems delivering water to the city of
Grande Prairie, Clairmont, and Sexsmith. So this system is dealing with pipe minor
losses, pump head loss, flow measurements, and open channels.



